
 

 

 

 

 

The Fall 2021 newsletter puzzle solution  

 

Solution = 4.   

 

For each circle, take LL (lower left), subtract OUT 

(outside & below), add LR (lower right) to get TOP.  

For example for the top left circle, 4 – 9 + 7 = 2.  

Therefore for the circle with the ? in it, 3 – 6 + ? = 1 

means that the ? has to be 4 for the math to 

consistent with the 3 other circles. 

 

 

Don DiZuzio was drawn at random from the responses received and 

will receive a $200 Amazon Gift Card.  Congratulations Don! 

 

 

Thanks to everyone who participated! 


